X

N

(=]
&

-3
o 2 T T A 0.2p T T
g - : : : il : s F ; ;
7015 : q : ] G015 : 2l
S E 1 i i i ; o E i :
o C ; d ; d C ; 2 DU
C Ok i ; | ; v 0IF 5 ;
0.05F : : : 0.05F {111 [k R A R
oF it OF -+ 2 A
-0.05F : ~0.05f-{----++- : : e
0 0 TR e
-0.15F ; -0.15F 1+ TG
9_03.:— nrmne mn |_|_| nin |_!__|__|_|__|__|_|>|_| ANI1 9_03-:__: |_|__|_!_ gl _!:: :___:__:_:__:_!‘ niMn :_!_: I
IS . : IS . i : ] i :
a4 r @ r : : q N .
0.5 1M H 0.5F l TN ' el

(k=]

-2 -1 0 1 2 3 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

= 100 X " T T N — 100

|
w

pm

= E : : : : E :
= 80 TR IR s HE T = 80 1
A F : : X A F '
£ 60F ' 60F 1
N o :
v 40:— Vv 40:—
20 20F :
oF oF 1
~20[ -20F e
—-40F -40F j
-60F -60F
-80H] -80F
Q_loq-—:-ll i Ll o by 9_10_0:. n 0l o
T F T E |
e r v 1= 1 1
0.5 E ;
L 0.5F .
o3 3 o3 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

< > (Y
o p,/p, > (%)
O = N W N O

Ratio

[y
TT[TTTT[TTTT[TTTT
: 4 L

3
TP n (PCA to beamline)

|
w



	Contents
	Page 1


